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General Instructions :
Read the following instructions very carefully and strictly follow them :

(a)  This question paper consists of two parts viz. Section A : Employability
Skills and Section B : Subject Skills.

(b)  Section A : Employability Skills (10 Marks)
(i) Answer any 4 questions out of the given 6 questions of 1 mark each.
(it) Answer any 3 questions out of the given 5 questions of 2 marks each.

(c) Section B : Subject Skills (50 Marks)
(i) Answer any 10 questions out of the given 12 questions of 1 mark each.
(it) Answer any 5 questions from the given 7 questions of 2 marks each.
(iit) Answer any 5 questions from the given 7 questions of 3 marks each.
(iv) Answer any 3 questions from the given 5§ questions of 5§ marks each.

(d)  This question paper contains 42 questions out of which 30 questions are to
be answered.

(e)  All questions of a particular section must be attempted in the correct

order.
SECTION A
(Employability Skills) (10 Marks)
Answer any 4 questions out of the given 6 questions of 1 mark each. Ix4=4
1. Which one of the following actions does not help to become an active
listener ? 1

(A) Listen carefully

(B)  Ask for clarification, if required
(C)  Interrupt repeatedly

(D)  Don’t interrupt

2. Which one of the following is the keyboard shortcut to open a file ? 1
(A) Ctrl+0
(B) Ctrl+S
(C) Ctrl+N
(D) Ctrl+P

342 3 P.T.O.



=
=
=
=

]
T

=
&% &
3. 379 AYY HHI o T hd SAI.AE.TH. favcives s=1 Irad & | Fefafiaa 9

T -5 Teh YN AId o ®9 H 1 7g7T Ham ? 1

(A) @fa

B) iq

(C) Y=

(D) ST A &l TYAT
4. IFH@ TR ? 1
5. &I Hed 3=l Tt STl F | 1
6. N Ud Yo ol b & H fohedl a1 gRa Mepia =1 3g@ Hifvu | 1
3T 77 5 991 4 @ [31 8 Io71 & I [o7/&0 | Icd%h J97 2 37 7 & | 2x3=6
7.  Wfha ot AT forelt oft w=Tl & foIT wes It shieret e 7 2 2

8.  whoudl hifv fo 39 LIRS, § HRRd T Si.emE.uE. faveme B |
9! IFUTEA TQ¥ hl TRAT AU HHT o gl TG ST o [oReiwur hl
e @ St 3 | TRl @ afoaca Ui @1 3g@ HINT St 39 dE 6

Hae3itel i o foTu 319 # g 918U | 2
9. Tl @1 alispl o1 3g@ hifvie, fomes a1eam @ 319 s Toge 0 e ot ffese
& Tohd &l | 2
10. UL 3R HHATT hl AAGREAT H hlg @ AR T8 HINT | 2
11. BRa 9o & 1 fmE 2 2 Tose i | 2
Qs ™
(Frsrr Srorer) (50 37R)
fau 77 12 §971 4 @ 57 10 9791 & I 0 | J9% Jo7 1 37 T 8 | 1x10=10
12. TfaRea ¥ 9 fagq-graeh™ Sl 1 &I Gid iH-a1 8 ? 1
A
(B) degHl
(C) gedl

(D) AT
342 4



ENE L
s i

3. You wish to become the most successful GIS analyst of your time. Which

of the following will not work as a source of motivation ? 1

(A) Music

(B)  Sleep

(C) Books

(D) Dreaming big
4, What is Entrepreneurship ? 1
5. Books are said to be best . 1
6. Mention any two green jobs in solar and wind power sector. 1
Answer any 3 questions out of the given 5 questions of 2 marks each. 2x3=6
7. How is active listening a helpful skill for an employee ? 2

8. Imagine you are a GIS analyst working with DRDO. You are assigned the
responsibility of analysis of RS data of the Indian international border in
Arunachal Pradesh. Mention any two personality traits which are

required in you to work on such a sensitive project. 2
9. Mention any two ways in which you can insert pictures in a slide. 2
10. Explain any two differences in attitudes of entrepreneurs and employees. 2
11. What are green buildings ? Explain. 2

SECTION B
(Subject Skills) (50 Marks)

Answer any 10 questions out of the given 12 questions of 1 mark each. I1x10=10
12. Which one of the following is the main source of electromagnetic energy ? 1

(A)  Sun

(B)  Moon

(C) Earth

(D) Coal
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2
B

It

13.

14.

15.

16.

17.

18.

19.
20.

Torq-greh i Tafohtor < Teh Toehet |dg | ThUH O &I BT © 2

(A)  H=XOT (YTATRIET)

(B)  Ta=Iyul

(C) A

(D) v (foewa)

fAfciad § ¥ SH-81 gL Holgd Tisha1 H A 737 & ?

(A e

(B)  3cqmed

(C)  HTcTEEt

(D)  HeaTRd

St frafafy foret erafeufa ot 3ah fomwaren =1 Gemmf & fgemmdh
Tag 4 ufafda it g ?

(A)  STYR @1 (S2H)

(B) e

(C)  Wrifeh =T aF

(D)  v&qu

HIS[ET 3ATGT | T SfY. 3718, T, IcuTal o Goid i ohl JfshaT hl Sad & :
(A)  Sft.377.uE. HuTe

(B)  Sft.3TE.ud. JeRUgINH

(C) ft.o7E.wm. ufaequ (wrsfer)

(D) Sft.7E. vy, gue-faamo

gt g uard fSeeR amaE H MG BT @, fagd-greshi fafeo
Scafdla =t g |

foreeryor forelt ofimifores STepfcRll & oTE-UTd % & &I UgEH *
fore s femam e 2 |

IO I H AN AT % g A o |
fopE THE=Te 93 | @I U §=Td <hl Sfgdiy fowwar g 2




2
B

It

13.

14.

15.

16.

17.

18.

19.
20.

342

all-
A

What occurs when incident EMR bounces off from a smooth surface ? 1
(A) Transmittance

(B)  Absorption

(C)  Reflection

(D)  Scattering

Which one of the following is not included in a remote sensing process ? 1
(A)  Monitoring

(B) Production

(C) Inventory

(D) Assessment

Which procedure transforms the features and location from a 3D to a 2D

surface ? 1
(A) Datum

(B)  Coordinates

C) GIS

(D)  Projection

The process of creating new GIS products from existing products is

known as : 1
(A)  GIS editing

(B)  GIS vectorisation

(C)  GIS modelling

(D)  GIS troubleshooting

All object matters that have temperature higher than emit
EMR. 1
analysis is used for identifying area surrounding geographic
features. 1
Stone Age people navigated by means of . 1
Which navigation system has the unique feature of search and rescue ? 1
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21. What is topology ? Explain. 1
22.  Which GIS vendor provides the 3D software Geomatica ? 1
23. Which GIS refers to exchange of data to GIS software system network

without format conversion. 1
Answer any 5 questions from the given 7 questions of 2 marks each. 2x5=10
24. Explain the radio navigation system. 2
25. What is GIS ? Why is it called as Geo-based information system ? 1+1=2
26. Explain Spatial database. 2
27. Name any two image enhancement techniques. 1+1=2
28. What is the purpose of filtering ? Explain. 2
29. What is digital photogrammetry ? Explain 2
30. What is Watershed management ? Which method was wused in

Doddahalla watershed to manage the resources ? 1+1=2
Answer any 5 questions from the given 7 questions of 3 marks each. 3x5=15
31. Explain Temporal resolution with examples. 2+1=3
32. Explain the spectral reflectance characteristics of soil. 3

33. What is spatial overlay ? Explain any two methods of vector overlay. 1+2=3
34. What is UTM ? Explain. 3
35. What is trilateration ? Explain the principle and process of deciding

receiver’s location. 1+2=3

36. What is surveying ? How does GPS help in surveying and mapping ? 1+2=3
37. What is multispectral remote sensing ? Explain its characteristics. 1+2=3
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Answer any 3 questions from the given 5 questions of 5 marks each. 5x3=15

38. Explain the role of Geospatial technology in the development of Urban

and Infrastructure planning. 5
39. What is LIDAR ? Explain. 5
40. What is Digital Image processing ? Mention all the steps and explain any

one step. 1+2+2=5
41. “Many organizations have implemented GIS to improve the management

of their resources.” Explain how GIS facilitates organizations in present
times. 5

42, Explain the functions of GIS. 5
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